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1. Complete the enlargement of the shaded shape with a scale factor of 3

(i) Complete the edge lengths.

(ii) Use the teacher’s calculations

edge × scale factor = EDGE

to complete the enlarged shape.

. . . cm × 3 = cm6

. . . cm × 3 = cm9

2. Complete the enlargement of the shaded shape with a scale factor of 2

(i) Write down the edge lengths.

(ii) Work out the EDGE lengths.

edge × scale factor = EDGE

(iii) Complete the enlarged shape.

. . . cm3 × 2 = . . . cm

. . . cm × . . . = . . . cm
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3. (a) Draw an enlargement of the shaded shape with a scale factor of 3

You may use the formula: edge × scale factor = EDGE

(b) Draw an enlargement of the shaded shape with a scale factor of 4

You may use the formula: edge × scale factor = EDGE
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4. Draw an enlargement of shape K scale factor 3.

K

{scale factor 2 or scale factor 3}

{no sloping sides, no axes}

{no centre given}
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5. {enlargement scale factor 2 or 3 or 4 , with sloping sides, no axes, no centre given}

A

Draw an enlargement of shape A scale factor 3.

6. Describe fully the transformation that maps shape A onto shape B. {enlargement}

x

y

2 4 6 8 10 12 14 16−2−4

2

4

−2

−4

−6

−8

O

A

B

cbna To see licence visit http://creativecommons.org/licenses/by-nc-nd/4.0/. SRS Learning Limited


